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#include <stdio.h> KT 255
#include <math.h>

#define EPS pow(10.0,-8.0) /* epsilon MFRE */

#define NMAX 10 /* s AERIE */

void newton(double x); /* Newton 15 */

double f(double x); [*fx)DOEE */ \

double df(double x); /* fR)DEE */ 3

int main(void){
double x; N

printf("FIHIHE x0 2 A ) L TL 72 &\ ¥n");
scanf("%lf", &x);

newton(x);
return 0;
}
void newton(double x){/* Newton i */
g(l)if n=0; double d; IS U 72V
d=-fx)/df(x);
o B xcos=0
. ’ . 1[=H
uhilefahs (P EPS& &n<NMAX): P X0 2 A LT &L,
4 N > N S e "y 3
printf("E 21X RO FHEATLZ¥n"); 5 2 13 x=0.739085 T
elsel (2 [11F1) .
printf("& z 1 x=%f TI. ¥n",x); iﬂ'ﬂ;ﬂﬁ X0 A LTS
) j BZDIHOMNY FHEATL.
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double f(double x){
\ return x-cos(x); P
double df(double x){
return 1.0+sin(x); /
| /
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#include <stdio.h>
#include <stdlib.h>
int main(void)
{
int 1; double x,y;
FILE *fout;
if((fout=fopen("output.csv”,”w”))==NULL){
printf(’ 7 7 A WTR-oON 0 FH Aoutput.dat ¥n”);
exit(1);
H
for(x=-3;x<=3;x+=0.2){
y=X*X;
fprintfC%If %If¥n”,x,y);
H
fclose(fout);
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-3
-2.8
-2.6
-24
-2.2

-2
-1.8
-1.6
-1.4
-1.2

-1
-0.8
—-0.6
-0.4
-0.2

0
0.2
04
0.6
0.8

1

1.2

1.4

1.6

1.8

2

2.2

24

2.6

2.8

3

7.84
6.76
5.76
4.84

3.24
2.56
1.96
1.44

0.64
0.36
0.16
0.04

0.04
0.16
0.36
0.64

1.44
1.96
2.56
3.24

4.84
5.76
6.76
7.84

9

-2.8

-2.6

-24
-2.2

-1.8
-1.6




